
MEEG 2003  Quiz #7.m17.073
 

1. Define radius of gyration of an 
area about an axis. 2 
 

2. A composite section is shown, 
where C1, C2, and C are the cen-
troids of the rectangular section, 
the S7 × 20 section, and the com-
posite section, respectively. The 
S7 × 20 section has an area A2 = 
5.88 in2 and moments of inertia 

2  = 42.4 in( )uI 4 and 2( )yI  = 3.17 
in4. For this composite section, de-
termine (a) the distance e, (b) the 
centroidal moments of inertia xI  
and yI . 8 
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2.   A1 = 1.6     A2 = 5.88     1 3.7y e= −      2y e= −      0y =  
POM1:   A = A1 + A2 = 7.48 
 

POM2: 1 1 2 2y A y A y A= +  
 

0 (7.48) (3.7 )(1.6) (5.88)e e= − −           e = 0.7914 
 

0.791 in.e =   3 
PAT: 2I I Ad= +  

23 21
12 (4)(0.4) 1.6(3.7 ) [42.4 5.88( )] 59.64xI e= + − + + =e  

459.6 inxI =   3 
 

31
12 (0.4)(4) 3.17 5.303yI + ==  

 

I y =5.30 in4   2 


